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Out of the following, which Tennis
ﬁlayer has received Rajiv Gandhi Khel
atna Award ?

(1) Rohan Bopanna

(2) Mahesh Bhupathi

(3) Sania Mirza

(4) Somdev Devvarman

Which player of Rajasthan won two
gold medals in shooting at South
Asian Games, 2016 ?

(1) Seema Tomar

(2) Shreya Choudhari

(3) Apurvi Singh Chandela

(4) Snehlata Singh Rajawat

Who is the Chairman of Rajasthan
State Human Rights Commission ?

(1) H.R.Kuri

(2) M.K. Devarajan

(3) Prakash Tatia

(4) N.K.Jain

Manas Biosphere Reserve is located at :
(1) West Bengal

(2) Assam

(3) Arunachal Pradesh

(4) Tamil Nadu

The oldest National Park of India is :
(1) Hemis National Park

(2) Jim Corbett National Park

(3) Kanha National Park

(4) Hazaribagh National Park

Godwar region is a part of which broad
physiographic division of Rajasthan ?

(1) Eastern plain region

(2) Western arid region

(3) Hadoti plateau

(4) Ghaggar plain

“Tal Chhapar’ Sanctuary is famous for :
(1) Tiger (2) Bear
(3) BlackBuck (4) Wild Boar

‘Mangla Oil Field’ is found in the
district of

(1) Jaisalmer
(3) Jodhpur

(2) Barmer
(4) Bikaner
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Largest feldspar producing district in
Rajasthan is

(1) Bhilwara (2) Jaipur

(3) Kota (4) Ajmer

Which of the following is not a salt lake ?
(1) Didwana (2) Phalodi
(3) Sambhar (4) Kolayat

Of the following, the district having
lowest density of population (2011) is
(1) Bikaner (2) Barmer
(3) Jodhpur (4) Churu

‘Pugal’ is the breed of

(1) Goat (2) Sheep

(3) Cow (4) Camel
‘Lohagarh Fort’™ is located in the
district of

(1) Jaipur (2) Jodhpur

(3) Bharatpur

In which of the following project, the
sprinkler irrigation -system was made
compulsory for the first time in
Rajasthan ?

(1) Indira Gandhi Canal Project

(2) Narmada Canal Project

(3) Sidhmukh Canal Project

(4) Chambal Canal Project

What is the percentage of population
of Rajasthan dependent on agriculture
and allied activities for their livelihood ?
(1) 52 percent (2) 62 percent
(3) 72 percent (4) 68 percent

(4) Jaisalmer

Which of the following oilseed crop is not
produced in Kharif season in Rajasthan ?
(1) Groundnut (2) Sesamum

(3) Soyabean (4) Mustard

Which crops are included under the

National Food Security Mission

(NFSM) in Rajasthan ?

(1) Only wheat

(2) Only wheat and pulses

(3) Only wheat and coarse cereals

(4) Wheat, pulses, coarse cereals and
commercial crops
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Indicate the percentage contribution of

Government of India as central
assistance to  Rajasthan  under
Rashtriya Krishi Vikas Yojana ?

(1) 60 percent
(3) 80 percent

(2) 75 percent.
(4) 100 percent

Which of the following institute is
concerned with the construction of
mandi yards and cold storages in
Rajasthan ?

(1) NABARD

(2) State Co-operative Bank

(3) Agricultural Marketing Board

(4) Kraya Vikraya Samities

Which of the following scheme in

Rajasthan is related to financial

inclusion and women empowerment ?

(1) Bhamashah Yojana

(2) Mahatma Gandhi National Rural
Employment Guarantee Scheme

(3) Indira Awas Yojana '

(4) Prime Minister Employment
Generation Programme

What is the contribution of agriculture
and allied sector in the gross value
added at constant (2011-12) basic
prices in Rajasthan in 2015-16 ?

(1) About 24 percent

(2) About 30 percent

(3) About 17 percent

(4) About 20 percent

Match the following :
Dam

A. Gagrin L.

B. Gararda 2,

C. Mora Sagar 3.

D. Tokra 4.

Codes :

A B

m 1 2

3

1

1

District
Bundi
Sirohi
Sawai Madhopur
Jhalawar

@ 2
3) 3
@ 4

W A= WA

D
4
4
1
2
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The Mewat Area Development
Programme is being implemented in
(1) Bharatpur — Dholpur

(2) Bharatpur — Alwar

(3) Alwar - Dausa

(4) Alwar — Dholpur

In which of the following battles did
Maharana Sanga defeat Ibrahim Lodi ?
(1) Battle of Sarangpur

(2) Battle of Khatoli

(3) Battle of Khanua

(4) Battle of Chanderi

Which of the following is the famous
folk drama of Bhils ?

(1) Swang (2) Tamasha

(3) Rammat (4) Gavari

Which of the following festival is
celebrated around a fortnight after Holi ?
(1) Ghudla

(2) Akshya Tritiya

(3) Gangaur

(4) Teej

In which of the following districts of
Rajasthan, the Mewati language is
spoken ?

(1) Dungarpur (2) Sikar

(3) Alwar (4) Bhilwara
The formation of Rajasthan was
completed in how many phases ?

(1) Seven (2) Eight

(3) Five (4) Four

Which of the following musical
instrument is not a Tat Vadya (string
instrument) ?
(1) Algoja
(3) Jantar

(2) Kamayacha
(4) Ravanhatthha

Which of the following is not a sub-
sect of Dadupanth ?
(1) Khalsa

(3) Satnami

(2) Khaki
(4) Uttarade
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Which of the following places is
famous for Durri manufacturing ?
(1) Tonk (2) Pushkar
(3) Jaipur (4) Udaipur

At which of the following places did
the coronation of Maharana Pratap
took place ?
(1) Gogunda
(3) Diver

(2) Chittor
(4) Chavand

Which of the following was not a ruler
of Jodhpur State ?

(1) Jaswant Singh

(2) Ajit Singh

(3) Anup Singh

(4) Mota Raja Udai Singh

Which place is famous for ‘Ajraka
print in Rajasthan ?
(1) Jaisalmer

(3) Pali

(2) Barmer
(4) Sanganer

Which of the following name was
given to the oil field, which has
been discovered by Oil India Ltd. in
Bikaner — Nagaur basin ?

(1) Poonam (2) Mangla

(3) Sita (4) Sumitra

The First Industrial Policy of
Rajasthan was announced in the year
(1) 1948

(2) 1956

(3) 1978

(4) 1991

Which of the following institute is
responsible for the development of
infrastructure facilities in industrial
areas of Rajasthan ?

(1) Rajasthan Financial Corporation
(2) RIICO

(3) RajSICO

(4) District Industries Centre
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Which is the ‘Textile City’ of Rajasthan ?
(1) Kota (2) Ganganagar
(3) Bhilwara (4) Jaipur

Which of the following sector has not
been included for increasing
investment as per the Resurgent
Rajasthan Partnership Summit 2015 ?
(1) Agro and food processing

(2) Auto and engineering

(3) Health care

(4) Cement industry

Match the following :

Mineral Region
A. Copper i. Jamsar
B. Gypsum ii. Kho-Dariba
C. Lead & Zinc iii. Jhamar-Kotra
D. Rock-Phosphate iv. Rampura-

Agucha

Code :

A B C D
(1) i 1 iv il
2) iv i il i
IR S iii v
4 i 1 i iv

What is the growth target for industries in
the twelfth Five Year Plan of Rajasthan ?
(1) 5 percent (2) 6.5 percent
(3) 8.0 percent (4) 9.5 percent

Which of the following is the nodal
agency for generation of energy from
non-conventional energy sources in
Rajasthan ?

(1) Rajasthan State Electricity Board
(2) Rajasthan Non-Conventional

Energy (P) Ltd.

(3) Rajasthan Sustainable Energy
Corporation Ltd.

(4) Rajasthan Renewable Energy
Corporation Ltd.

What is the Rajasthan’s current

position in the production of solar
energy in India ?
(1) First
(3) Third

(2) Second
(4) Fourth
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The author of the book ‘Rankhar’ is :
(1) Nand Bharadwaj

(2) Malchand Tiwari

(3) Jitendra Kumar Soni

(4) Madhu Acharya ‘Ashawadi’

When is the ‘Press Day’ celebrated by
the Press Council of India ?

(1) 3™ April (2) 6" July

(3) 17" July (4) 16™ November

Which of the following is matched

incorrectly ?

(1) Swami Keshwanand
Rajasthan Agricultural
University

(2) Jagadguru Ramananda-
charya Rajasthan
Sanskrit University

(3) Central University of
Rajasthan -

(4) Dr. Sarvepalli Radha-
krishnan Rajasthan
Ayurved University

: Udaipur

: Jaipur
: Ajmer
: Jodhpur

Who among the following is not
represented India in Men’s Marathon
race at the Rio Olympics, 2016 ?

(1) Thonakal Gopi

(2) Manish Singh Rawat

(3) Kheta Ram

(4) Nitender Singh Rawat

Which film was declared as the Best
Hindi Film at the 63™ National Film
Awards ?

(1) Bajirao Mastani

(2) Piku

(3) Dum Laga Ke Haisa

(4) Bajarangi Bhaijan

Among the 10 elected members of Rajya

Sabha from Rajasthan, how many belong

to Bharatiya Janata Party ?

(1) 6 (2) 7

3) 8 4 9

Who is the  Chief -

Commissioner of India ?

(1) Nasim Zaidi (2) H.S. Brahma

(3) Kuldip Singh (4) Achal Kumar
01
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Aquaregia is prepared by mixing

(1) conc. hydrochloric acid and conc.
sulphuric acid in the ratio of 4 : 1.

(2) conc. nitric acid and conc. hydro-
chloric acid in the ratioof 4:1

(3) conc. nitric acid and conc.
sulphuric acid in the ratio of 3 : 1

(4) conc. hydrochloric acid and conc.
nitric acid in the ratioof 3 : 1

In propane molecule the ratio of C - C
bonds to C— Hbonds is .

(1) 1:4 2) 4:1

3) 1:3 4) 2:1

The allotrope of carbon having layer
structure is

(1) Carbonblack (2) Graphite

(3) Diamond (4) Fullerene

Which of the following statement is

not correct for soap ?

(1) One end of soap molecule is
hydrophilic.

(2) When dissolved in water form micelles.

(3) Micelles of soap help in cleaning
dirt from clothes.

(4) Sulphonate salts of long chain
carboxylic acids.

Which of the following compound do not
contain a double bond in its molecule ?
(1) Propanoic acid (2) Propene

(3) Propyne (4) Acetone

The bottom of a vessel get blackened
from outside while cooking implies

(1) that the fuel is wet.

(2) the fuel is not burning completely.
(3) the food is not cooked properly.
(4) the fuel is burning completely.
Polymer used in non-stick surface
coated utensils is

(1) Teflon
(3) Dacron

(2) Orlon
(4) Rayon
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The formula of Freon-12 is
(1) CE,CL, (2) CFCl,
3 CF3CE 4) C,Clg

Which of the following metals exist as
liquid at normal temperature ?

(1) Mercury (2) Lithium

(3) Potassium (4) Sodium

Main component

Natural Gas (CNG) is
(1) Carbon dioxide
(2) Methane

(3) Carbon monoxide
(4) Ethane

Laws of reflection are applied :
(1) only on plane mirror

(2) only on concave mirror
(3) only on convex mirror

(4) on all of these mirrors

of Compressed

An object is placed on 2F, of a convex

lens, its image will be formed
(1) between 2F, and lens

)
©)
“

between 2F, and lens

at 2F,
at F2

If the angle between an incident ray and a
reflected ray is 44°, then double of angle
between the reflectd ray and the normal
on the reflecting surface will be :

(1) 22° (2) 44°

(3) 66° (4) 88°

Satish Dhawan Space Centre is located at :
(1) Sriharikota (2) Ahmedabad
(3) Hyderabad (4) Dehradun

A prism splits an incident white light
into a band of seven colours. The
colour in the centre of this band is

(1) Blue (2) Yellow

(3) Green (4) Red

01
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What is not correct for a myopic eye ?
(1) It can see nearby objects clearly.

(2

It cannot see distant objects
distinctly.

(3) The image of distant object is
formed infront of the retina and

not on the retina itself,

“)

The defect of such an eye can be
corrected by using a convex lens.

A current of 2 A is drawn by an
electric device for 5 minutes. The
amount of electric charge that flows
through the circuit is :

(1) 600 coulomb (2) 100 coulomb
(3) 10coulomb (4) 1 coulomb

Electrical resistivity of a given
metallic wire depends upon :

(1) its length

(2) its area of cross section

(3) its shape

(4) the nature of its material

An electric motor is a device that converts :
(1) Electrical energy into Mechanical energy
(2) Mechanical energy into Electrical

energy
(3) Magnetic energy into Mechanical
C))

energy
Heat energy into Electrical energy

At the time of short circuit, the current

in the circuit

(1) reduces substantially

(2) increases heavily

(3) does not change

(4) varies continuously

Which of the following is not a
software ?

(1) Microsoft Word

(2) Internet Explorer

(3) Barcode Scanner

(4) Windows Media Player
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The S.I. unit of magnetic flux is :
(1) Tesla (2) Weber
(3) Gauss (4) Ampere

The device used for producing electric
current is called :

(1) Galvanometer (2) Ammeter

(3) Generator (4) Motor

Which of the following characteristics
is not suitable for a fuse wire ?

(1) Higher resistance than rest of the
wiring.

Low melting point

(3) Thin and short

(4) Thick and short

The first Indian satellite to be placed in
space was

(1) Rohini (2) Bhaskara-I
(3) Chandrayan-I (4) Aryabhata

)

Which of the following places a ISRO
centre ?

(1) Shillong (2) Kota

(3) Kohima (4) Jaisalmer
Genes which code for a pair of
contrasting traits are known as

(1) Alleles (2) Chromatids
(3) Recombination (4) Linkage

How many pairs of chromosomes are
present in humans ?

(1) 23 (2) 26

3 33 4) 36

Mendel’s law of independent assortment
is based upon observations of

(1) Monohybrid crosses

(2) Dihybrid crosses

(3) Test crosses

(4) Back crosses

Which among the following is an
example of incomplete dominance ?

(1) Pea (2) Papaya
(3) Snapdragon (4) Tomoto

01



81.

82.

83.

84.

85.

86.

01

T A, & foe v &

(1) &g T-shrefudt s
) TG Tg-fefade deg
(3) =T TRA-efRfaie ag

(4) 1€ TgA-STRRauEr arRd

(et i ferasiicT gehTS SEeTe &
(1) IS (2) SaHed
(3) uRex (4) wEERT

Gyl GRS S SARH &k AT | T
97 H YA el §, S agEved O
el St &

(1) fefes s Hwr s

(2) WHRTHETH

(3) FHMFETH

(4) RS T=E & T H

frafofad & @ BT A1 TS FEHHES W
T2

(1) QE=I S
(3) = AT

(2) it
(4) T=H

frefafea & @ fF weiEr Ssget w5
IS 3ifeeray Ge § foar STar & 9

(1) TR (2) @uTe &

(3) gawi & (4) wetH

frfafea & / $i T F99 ERTE w7

{ TN FEA] b (o0 9e ol 7 2

(1) STEfTS TURRY Gl I T
FEt & ufa e Sl S © |

(2) STERTE TR0 AT
RNewivE o Fnfkar = &9 5@ £

(3) SFERTE FURRO S ST W
ST h! HH T & |

(4) SEREE TAFRE GIA Fed & &5
2 arelt Bl B T §

13

81.

82.

83.

84.

85.

86.

HIV stands for

(1) Human Immuno-deficiency Virus
(2) Human Immuno-deficiency Value
(3) High Immune-deficient Value

(4) High Immune-deficiency Virus

Functional unit of nature is termed as :
(1) Atmosphere (2) Biosphere
(3) Ecosystem (4) Environment

All solar energy that enters in the
living system through the producers
ultimately goes back to atmosphere in
the form of :

(1) Potential energy

(2) Light

(3) Heat

(4) Organic matter

Which among the following is a non-
infectious disease ?

(1) Common cold

(2) Pneumonia

(3) High blood pressure

(4) AIDS

Which of the following transgenic

animals are produced in highest
number ?

(1) Mice (2) Rabbits

(3) Pigs (4) Sheep

Which of the following statements is
not true for genetically modified
crops ?
(1) Genetic modifications make crops
more tolerant to abiotic stresses.
(2) Genetic modifications reduce
reliance on chemical pesticides.
Genetic  modifications reduce
efficiency of mineral usage.
Genetic modifications reduce post
harvest losses.

3
(4)
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The top vertical strata or layer of a
forest is occupied by :

(1) Shrubs (2) Trees

(3) Herbs (4) Grasses

Which of the following process does not
librate carbon dioxide into atmosphere ?
(1) Respiratory activities of producers
(2) Respiratory activities of consumers
(3) Burning of organic waste

(4) Photosynthesis

X-ray diffraction data for double helix

model for structure of DNA were

produced by :

(1) James Watson

(2) Francis Crick

(3) James Watson and Francis Crick

(4) Maurice Wilkins and Rosalind
Franklin

In humans a zygote which has an
X-chromosome inherited from the
father will develop into a :

(1) Boy

(2) Girl

(3) X-chromosome does not
determine the sex of a child

(4) Either boy or girl

Bee-keeping is known as
(1) Apiculture (2) Sericulture
(3) Agronomy (4) Horticulture

Central sheep breeding farm is situated at
(1) Ludhiana, Punjab

(2) Hissar, Haryana

(3) Surat, Gujarat

(4) Suratgarh, Rajasthan

Rh-factor is associated with
(1) Saliva (2) Blood
(3) Lymph (4) Urine

The Pathogen of pneumonia is
(1) Bacteria (2) Fungi
(3) Protozoa (4) Virus

01
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" (3) Platinum

Which of the following is a chemical
change ?

(1) Boiling water in a beaker

(2) Peeling a banana

(3) Cutting aluminium foil into pieces
(4) Setting curd from milk

Which of the following does not
happen in a physical change ?

(1) Change in shape

(2) Change in colour

(3) Formation of new substance

(4) Change in density

Unsaturated hydrocarbons add
hydrogen in presence of a catalyst to
give saturated hydrocarbons. The
catalyst may be

(1) Iron metal
(2) Iron oxide
(3)- Nickel metal
(4) Active carbon

In the context of redox reactions, the
removal of hydrogen from a substance
is known as

(1) dehydrogenation

(2) Dehydration

(3) Oxidation

(4) Reduction

The most ductile metal out of the

following is :
(1) Silver (2) Gold

(4) Zinc

Which of the following compound
show both acidic as well as basic
behaviour ?
(1) ALO;
(3) €O,

(2) Na,0
(4) KOH
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Letlog,,18 =a, then log,,16 is equal to

8—4a 1
Ol vy @ 343
4a-1 8-4a
3) 2+3a “) S+a
Let a, b, ¢ and d be positive integers

5
such that log, =% and log d=7 . If

a-c=09, thenb-d equals to

(1) 55 (2) 23
(3) 89 4) 93
Successive discounts of p% and q%

are equivalent to a discount of

1) p+9%
> B35

o (s

@ (p+q—{%.“5]%

Leta?+b?=1;c?2+d*=1andac+bd=0,

then

i) a’+c?=1

(i) b*+d?=1

(iii) ab+cd =0

Which one of the following is true ?

(1) Only (i) and (ii) are true but (iii) is
* not.

(2) Only (iii) is true and (i) & (ii) are

not true.

(3) All the three (i), (ii) and (iii) are true.

(4) All the three (i), (ii) and (iii) are

false.

The salary of a person is increased by
20% of his original salary. But he
received the same amount even after
increment. What is the percentage of

his salary he did not receive ?
1) 12% @) 20%
@ 2% @ 2
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A wire is cut into two pieces. The longer
piece is 60% of the length of the wire. By
how much percentage is the longer wire
longer than the shorter piece ?

(1) 20%

(2) 50%

3) 120%

(4) None of these

A certain sum of money generates a simple
interest of ¥ 800 over 2 year period. The
same sum of money invested at the same
rate of interest on a compound interest basis
for 2 years generates an interest of ¥ 900.

Find the principal.
(1) ¥1,200 (2) T1,600
(3) ¥2,000 (4) 2,400

In a AABC, AB = AC, P and Q are
points on AC and AB respectively such
that CB = BP = PQ = QA, then ZAQP
equals to

Sn 3n
() = @ 7
2n Sn
©hry ) g
In a square ABCD, the sides AB, BC are
produced to points P and Q respectively,

such that BP = CQ. If AQ and DP intersect
at E, then the angle PEQ is equal to

3 2

W @
3

@ % & 5

The sum of the distances of the point
(x, y) from the co-ordinate axes is

(1) \x2+y? (2) x+y
(3) o +1yl @ \x+y

The points (a, 0), (0, b) and (1, 1) will
be collinear if
(1) a+b+ab=0 (2) a+b-1

€) ;+%=1 (4) ab=1

If a transversal line intersect three
parallel straight lines, then the number of
distinct values of the angles formed will
be

(1) 2
3) 6

2 4
@ 12



113.

114.

115,

116.

117.

118.

AB 3R CD, d =19 919t T 99 % 3t ey
= & S w5 g 0 ¥ | 99 ¥ s
1 BAST OAC & &t & s/yre s 9
(1) =:0.5 2) w:1
(3} w2 4) n:4

fret wrior o @ T Werter o
aiﬁm?ﬁ?mmmﬁmrﬁr%‘lwﬁﬂﬁ
T ETFEA FAT 8 Tohell & 2

(1) 12 9=R2 (2) 24 &P

(3) 48 TR (4) 100 |2

T 9O W 7 SRR 39, Tedep o fogr
A, T IR ¥ W o ¥ e v g
3 T gl e wer & | T gT ga
wwﬁaﬁmm%%aﬁmﬁ%ﬁ
W SINF ®T ¥ W ey & | & 9 g
T BN 7 it Bt T ot & o

M 2+Vy3):1 @ (B+1):2
(3) 2343 @) 2+4/3):43

& WSO S ABC  fraay Mg
AB = 24 HIeX 3R BC = 10 Hex &, 3t o
AC%WWW%:HH%W@T

IS W F S 1 S e
(1) 13:12 (2) 13:5
(3) 12:5 (4) 144:25
4@ﬁmﬁwwﬁ%aﬁuﬁﬁm
ST & | A W 3T T BT ST wme
TH IR B O
(1) 2=+ (2) 1.038 It
(3) 0.519 Q= (4) 0.5038 Tt
sin A cos A
afs sinB=P T L B=4a @ tan B
TWE T
g?+1 p*+1
(1) & p2+1 (2) . q2+1
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AB and CD are two perpendicular
diameters of a circle of diameter d and
centre at point O. What is the ratio of
the area of circle to the area of the
triangle OAC ?

(1) ®=:0.5 2) n:1

(3) m:2 4 n:4

The sides of a right angled triangle are
equal to three consecutive even numbers
expressed in centimetres. What can be
the area of such a triangle ?

(1) 12cm? (2) 24 cm?

(3) 48 cm? (4) 100 cm?

Three equal circles each of radius ‘r’ are
drawn on a plane in such a way that each
circle touches the other two circles. A big
circle is drawn in such a manner that jt
touches each of the small circles
internally. Find the ratio between the
radii of bigger circle to the smaller one,

M C+\3):1 @) &B+1):2
3) 2:43 @ (2+3):4f3

A right angled triangle ABC of sides
AB =24 m and BC = 10 m is rotated
about its hypotenuse AC, then the ratio
of volumes of bigger cone to the
smaller cone is

(1) 13:12 (2) 13:5

(3) 12:5 (4) 144 :25

A ball of silver 4 cm in diameter is
covered with gold. If the volume of the
gold and silver are equal, then the
thickness of gold is :

(1) 2cm (2) 1.038cm
(3) 0.519cm (4) 0.5038 cm
sin A cos A
If m=pandcosB =q, then tan B
is equal to
2 2
gl pr+l
2 2
1-p° -1
® \[goT @\
01
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I a=cot O + tan O, b = cosec O — sin 0,
a (a%h)?? - (ab?)?? T &

(1) o 2 1

(3) tan?0 (4) cot?8

g0 < A <%?ﬁ frfafaa w o=
HIT :

L +/1-2sinA/2 cosA/2
sinA/2

II. /1-2sinA/2 cosA/2
CcosA/2

ITF H W B WG &2
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(2) e 10

(3) 13RI
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TEAE T B 2
(1) 42 2) 44
(3) 46 (4) 48

g x Ty | 4x + 3y = 11 7 Gay & aqam
x 1 AT fagem 540 &, @t y @ A"
forarer =/ & 2
(1) 7.2
(3) 3.8

2) -7.2
(4) -3.8

aflg A R B &1 01 30 €, C 3R D &1

;?20%,ﬁﬁﬂﬁfﬁ§ﬁﬁ@ﬁ?ﬁ/@'ﬂﬁ
0

I. B 3R C = qea 25 § a1 g &

T |

A 3R D % 9" 25 § FH o0 @

feq |

2 e T e FH IET w9 W g

(1) el

(2) Faa I

(3) A LAl

(4) FAIARTE 1O

II.
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119.

120.

121.

122.

123.

Ifa=cotB +tan 0, b =cosec 6 — sin B,
then (a?b)¥3 — (ab?)?3 is equal to

() 0 @) 1
(3) tanZ6 (4) cot?0
T :
If 0 < A < 5 then consider the
following :

I. \1-2sinA/2cosA/2 = cosA/2 —
sinA/2

II. \/1-2sinA/2 cosA/2 = sinA/2 —
COSA/2

Which of the above is correct ?

(1) OnlyI

(2) OnlyII

(3) IandIIboth

(4) Neither I nor II

The mean and median of a frequency
distribution be 55.60 and 52.40. What
is the mode of the distribution ?

(1) 42 (2) 44

(3) 46 (4) 48

If x and y are related as 4x + 3y = 11
and mean deviation of x is 5.40. What
is the mean deviation of y ?

1 7.2 (2) =72
(3) 3.8 (4) 3.8

If the mean of A and B is 30, the mean

of C and D is 20, then which of the

following is/are correct ?

I. The mean of B and C must be
greater than 25.

The mean of A and D must be
less than 25.

Select the correct answer using the
code given below :

(1) Ionly

(2) I only

(3) EitherIorIl
(4) Neither I nor II

IL.



124. et sifwsl § s ey et g, R

gen & T mifeme oi 23 ¥
3w 0-10 |10-20(20-30|30-40|40-50
GIELRA 5 1 8 |10} 27| 3
Rzl

(1) 4 () 6

3) 8 4) 10

125. 3% a, b, ¢ F 9T M, @1 a2, b?, ¢ &

WMzﬁ‘,Fﬁab,bc, cafﬁr@‘qﬂﬂﬁ
M; - 3M,
3
-M,
2

2
3
2
3M] - 2M,
2z

D (2

3) 4)

i W 1 ¥ SR UEE G&AT 126 - 127 %
IR R

A = T
B = fasm=
C =
D = BUE
E = g2t
F=3

mmﬁﬁﬂ?aﬁﬁﬁgmm

I RS ) B T gaue =9 ° 10%

126.

e e &, T I I AT T A 4

¥ foog T B 2

(1) 31.66% 3= 38.5%
(2) 31.66% 37T 38.3%
(3) 31.5% 3T 38.5%
(4) 31.5% 9a1 38.3%

e 12000 Wk W @ S § R
I = T W T 14,625 I ¥ SR
W 20% T HART ¥, o TE B W
vty w1 3ifpa T ®
(1) T48.75
(3) T48.25

127.

(2) ¥58.50
(4) T58.75
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124. The missing frequency from the
following data, given that the median

mark is 23 is :
Mark 0-10 |10-20{20-30|30-40{40-50
No. of 5 8 10 ? 3
students

(1) 4 (2) 6

3) 8 4) 10

125. If the mean of a, b, ¢ is M, and a2, b?,
c?is M,, then one mean of ab, b, ca is
M - 3M, M} - M,
3
M

M -M,

2

(6] 2

€)

Study the following pie chart and answer the
question number 126-127 :

A =Paper

B = Advertisement

C =Binding

D = Printing

E = Royalty

F = Miscellaneous

B

Expenditure incurred in bringing
out a book by publisher.

If there is a 10% change in existing
expenditure on paper, then what will be
the new expenditure on paper against
total expenditure ?

(1) 31.66% or 38.5%

(2) 31.66% or 38.3%

(3) 31.5% or 38.5%

(4) 31.5% or 38.3%

126.

127. If 12000 copies are published and
miscellaneous expenditure on them
amount to ¥ 14,625 and the publisher

earns a profit of 20%, then marked

price of each copy is :
(1) T48.75 (2) ¥58.50
(3) T48.25 (4) T58.75

01



128.

129,

130.

131.

132.

133.

134.

01

24 HieX St dlaR & v W s v & o
T T ¥ AEHT W R IET oy
FOE: 60° SR 30° § | Ug # FuE ok
T AR ¥ T & qeg I ¥
(1) 4:4f3 2) 2/3:1
3) \f3:4 4) 1:243

or a2 9 3§ BD || RS || PQ, CP = PD
=11 cm, AR =RD =3 cm, BD = x,
RS =g, PQ = z, @ y T4 z &% 9Ml A

17 cm

(1) 6:11 2) 3:11

@) 1:2 @ 1:1

TR x4 + 4x3 + 3x2 — 2x — 6 & TIRAAH
OFEUE! i HEAT ¥

1) 4 2) 2

3) 3 (4) ¥H @ HE T
qulteh WA TR B9 Uit 912673 €, ¥ :
(1) 107 2) 87

(3 97 4) T q BT .
W 10 3T et st A §

(1 11 (2 13

(3) 12 @) 14

I tan O+sec O = x A0 < O <§Fﬁ

tan 0 =
x2-1 1
() = @ 5t
3) x2:1 @ xz;l
AT cos? A + cos A = 1, @ sin?A + sin?A =
1 -1 @ 1
3) 0 4) 2
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128.

129.

130.

131.

132.

133.

134.

The angles of depression and elevation
of the top of a wall 24 m high from top
and bottom of a tree are respectively 60°
and 30°. The ratio between the height of
tree to its distance from the wall is

(1) 4:4/3 2 23:1
(3) \3:4 @) 1:24/3
In the adjoining figure, if BD || RS || PQ,

CP=PD =11 cm, AR =RD =3 cm,
BD = x, RS =y, PQ = z, then the ratio of
values of y and z are :

”Cn;
P
1 o
G
Q
(1) 6:11 (2) 3:11
3) 1:2 4 1:1
Number of real factors of the

polynomial x* +4x3 + 3x2 —2x—6is
(1) 4 (2 2
3).3 (4) None of these

The integer number whose cube is the

. integer 912673, is :

(1) 107 2) 87
3) 97 (4) None of these
The median of first 10 prime numbers is :
(1) 11 2) 13
3) 12 4 14
Iftan9+sec9=xand0<9<%, then
tan 6 =

21 x+1
(B = @ =

x2+1 x-1
@ = @ =
If cos? A + cos A = 1, then sin®A + sin?A =
(1) -1 2 1
3) 0 4) 2



135.

136.

137.

138.

139.

140.

141.

142.

(1) 30%

Iy 487 =T THE SEA F I F IR TH
wwag Frger Tt fevam e &, B =6t
i &

(1) 72 3% (2) 48\[3 T8

(3) 36 TS (4) 48 T

I fawgatt (a, b), (b, ¢) T (c, a) ¥ &
Prget &1 F T faeg R, o &, b, 3

T T WET E

(1) a+b+c (2) abc

3) 0 (4) 3abc

T TR TehgfE R A W 5 9d § J
AT B S € | 9% 8 T

(1) 2099 H (2) 1289 H

(3) 15=9H (4) 1039

X, Y @ Z U% SO T HRd €
X, Y eI 3uer i AT e SRar € aen
Y, Z & Sifae FavT wan € 1 X, Y @

Z %t Ui J S ©
(1) 319:2 2) 6:2:3
3) 532 (4) 6:10:15

T @ T SO U # g S e
1: 4% |37 Ag B PHBA 196 § 1 5
T TS I G A SR B
(1) 1:3 (2) 3:10
(3) 4:11 4) 14:5

UF AR T AT HF 80% = FAT ¥ |
ITH I 20% F Far € GO 96 59 °
10% = g ST & | 3 e | g &
(2) 20%

3 32% 4) 60%

TH /IS S (2 + x + 1) F forwfora &
T HITRA (x — 2) T 99%ef 3 3T 8, &
D B-x2—x+1 Q) P+x2-x+1
3) P-224+x+1(4) ¥P-x*-x-1

S U Hie WEiher & g 15% g T
a Suent foshl 15% FR 78 | =t 5t mia
X ST T TG 7

(1) 15% 5 | (2) 2.25% "l g |
(3) 7.5% Tt & | (4) IS W &l

22

135.

136.

137.

138.

139.

140.

141.

142.

If an equilateral triangle is inscribed in
a circle of area 48 m square units, then
the perimeter of the triangle is :

(1) 72 units (2) 48[3 units
(3) 36 units (4) 48 units

If centroid of a triangle formed by the points
(a, b), (b, ¢) and (c, a) is at the origin, then
the mean of a3, b, c3is equal to

(1) a+b+c (2) abc

3) 0 (4) 3abc

A sum of money at compound interest
doubles itself in 5 years. It will amount
to eight times itself in :

(1) 20 years (2) 12 years

(3) 15 years (4) 10years

X, Y and Z start a business. X invests
3 times as much as Y invests and Y
invests two-third of what Z invests.
The ratio of capitals of X, Y and Z is :
1 3:9:2 (2) 6:2:3

(3) D332 4) 6:10:15

The ratio of the son’s age to the
father’s age is 1 : 4. The product of
their ages is 196. The ratio of their
ages after 5 years will be :

(1) 1:3 (2) 3:10

(3) 4:11 4) 14:5

A man spends 80% of his income. His
income is increased by 20% and he
increases his expenditure by 10%. His
savings are increased by :

(1) 30% (2) 20%

(3) 32% 4) 60%

The polynomial which when divided
by (x? + x + 1) gives quotient (x — 2)
and remainder 3, is :

1) B-x-x+1 2) B+x*-x+1
B) FP-2%+x+1(4) B-x2-x-1
When the price of a motorcycle was
increased by 15%, its sell fell down by
15%. The effect on money receipt was :
(1) 15% decreases

(2) 2.25% decreases

(3) 7.5% increases

(4) no effect

01



143.

144.

145.

146.

147.

148.

149.

150.

01

(729 x 15625)13
(1) 225
(3) 522

) 252
4) 524

HHOT ax? + bx + ¢ = 0 H A &
—b +1/b? + 4ac

(D 2a
—b +1/b? —ac
2a
2C
S +1/b2 - dac
(4) T | ®IE T

afE 320 9 =1 faw gow 400 W9 & W
T % SR & Al T Wi o ¥ 2

(1) 20% (2) 40%

(3) 25% 4 12.5%

992016 & T ¥ 3T T AT &
(1) 28 2) 26
(3) 24 @) 22

)

3
1) [1.75 + (0.75)2] T 1A &

0.25

(1 1 2) 2

3) 3 4) 4

A \[a2 + b2 =613, @ (a +b) FTHAAE
(1) 577 (2) 647

(3) 657 (4) 637

%3 + 822 + 19x + 12 & TOFEUE! & AT §
(1) 3x (2) 3x+4
(3) 3x-8 (4) 3x+8

ﬂﬁ‘%+$=m 31‘!'{‘%+%=n,?ﬁx:y%
(1) (na+ mb): (ma + nb)
(2) (na+ mb) : (ma - nb)
(3) (na-—mb): (ma-nb)
(4) (na-mb): (ma + nb)

143.

144.

145.

146.

147.

148.

149.

150.

(729 x 15625)13 =
(1) 225
(3) 522

(2) 252
(4) 524

The roots of equation ax? + bx + ¢ =0is

-b +/b? + dac

(1) 2a
@ -b + %bz —ac
a

2c
3
©) ~b + /b2 - 4ac
(4) None of these

If the selling price of 320 pens is equal
to the cost price of 400 pens, what is

the percentage profit ?
(1) 20% (2) 40%
(3) 25% 4) 12.5%

The sum of the digits of square root of
992016 is

(1) 28 (2) 26
(3) 24 4 22
The square root of

3
%’55)- +[1.75 + (0.75)3 is
(1) 1 @) 2
3) 3 4) 4

If \/a2 + b? = 613, then one of the value
of(a+b)is:

(1) 577 (2) 647

(3) 657 (4) 637

The sum of the factors of

P +8x2+19x+ 12is

(1) 3x 2) 3x+4

(3) 3x-8 4 3x+8

If%+$=mand%+‘3=n,then x:yis
(1) (na+ mb): (ma + nb)
(2) (na+ mb) : (ma —nb)
(3) (na-mb) : (ma —nb)
(4) (na-mb): (ma + nb)
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